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Topic:- General Studies

1) Find the measure of angle no. 4, if angle no. 7=110° polygon having six sides? /

afe o S[eT3T dler dgslst # HIOT HEAT 7=110°, of hI0T T&AT 4 & AT AT F|

i\ 2
< 3‘ >0
5\ 6
= 7\31 £
: |

1. 60°

2. 90°

3. 110°

4. 70°

Correct Answer :-

e 70°

2) CANCELLED
Terd g gie

1. 31§ - 8§16

2. Bl — el

3. HUId - HIdl
4. TRY — TS
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Correct Answer :-

« HUd - lal

3) Identify the decomposition reaction / 3(qee ufafepar o1 Wﬁl

H+0 » H0

1
5 CaCO; ——p CaO +CO;
; NaOH + HCl — 3 NaCl +Hz0

4 CuO + 2HCl ———» CuCl; + Hz0

Correct Answer :-

CaCOs —_ CaO +CO-

4) A farmer gets 12% profit by selling a cartload of rice for Rs. 9,856. He incurs 12% loss by
selling the same quantity of wheat for the same amount. What is his total profit or loss? /dldd

& TP U GU PICAIS B 9,856 = H ITBR fHATE DI 12% BT ATH Ut gral 31 g It G0
HTAT JHT AR T TTHR I 12% DI g1 it 81 STPT Hol 1Y T BT T 32

1. 1.44% profit %/ 1.44 AIY
2. 1.44% loss / 1.44% BT

3. 2.88% profit / 2.88% AIH

4. No profit, no loss /:[ﬁ_&;?ﬂ‘l-f, :rﬁ's‘aﬁ

Correct Answer :-

e 1.44%loss / 1.44% ©I !

5) In a certain code language, veny heny steny means get out man; steny shomy shelt means out of
danger. Which is the word for steny in that code language? / fodt @y ®re vTW ﬁ, veny heny steny
Dl Hddd % get out man; steny shomy shelt HT Hddd % out of danger. 39 IS HTUT H steny & ford
DI AT e 32

1. Danger
2. Man
3. Out

4. Of

Correct Answer :-
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e Out

6) Ferns reproduces through / o ar Th_"f, & 1T A Y99 Hd % |

1. Spores /EﬂTﬂTUJ

2. Root / SIS
3. Buds / Pl
4. Stem / d-Il

Correct Answer :-

« Spores / EﬂTﬂTUl

7)  The sum of Tp°—4q2-9, —2q°—3-5p’ and 8—Tp° + 6q’is

| Tpi-4g—9, 2q—3-5pF Ud 8—Tp* +6q? I AT &l

1. -5P3 + 12¢?

2. 19p3+2q%-5

3.-5p3-4

4.-5p3 + 4

Correct Answer :-

. -5p3-4

8) frmfafea & o= o fay arra @2
1. IR B G AT g dret
2. TSl HTYUT &b Tt 1T

3. 43 S @ fb bR SATER B
4. fosTett =1gY <t 3wferg SfeRT t

Correct Answer :-

. UG a1 ¢ fb Top SHFER ®
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3, Y TG
4, YHAR HTRC

Correct Answer :-

. AfefeRo e

GET IT ON
Google Play

10) The phenomenon which does not cause soil erosion is / g qﬁ‘EE"'-IT, e PRI Hal

UG TGl gl &
1. Deforestation /a=h=l1?1=r

2. Fragmentation of rock / d&I bl fad e

3-Floods / STé

4. Qver grazing / 3R

Correct Answer :-

« Fragmentation of rock/ﬁgﬂﬁm

11) Which Indian festival was commemorated at the United Nations for the first time in 2016? /

HYE AP H 2016 H UFAH IR DI AT AIGR FATIT T U1?

1. Pongal / giTa

2. Raksha Bandhan / &4
3. Diwali / f&areft

4. Dussera / GRIeXT

Correct Answer :-

« Diwali/ feareft

12)

2 5 I
The sumof -+ —+ — 18
9~ 1z 36

gl



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

m|m

9

Correct Answer :-

I:.-J|ru

13) Complete the sentence choosing the right option:

The  keptmy friend _ for weeks.
1. injury, incapacitated

2. assignment, detained

3. news, involved

4, interrogation, debarred

Correct Answer :-

« injury, incapacitated

14) Choose appropriate articles for the given sentence:

row of cardboard boxes were stacked in corner ready to be picked up and
transported.

1. A, an
2. An, a
3.A a

4. The, an

Correct Answer :-

15) Choose the option that picks out all the nouns in the sentence:

Alcoholism is a big problem in the country.
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1. problem, country
2. big problem, country
3. alcoholism, country

4, alcoholism, problem, country

Correct Answer :-

« alcoholism, problem, country

16) A firm employs10 people and their wages are as follows: Rs. 35000, Rs. 25000, Rs. 15000, Rs.
12000, Rs. 12000, Rs. 12000, Rs. 12000, Rs. 12000, Rs. 10000, and Rs. 10000, respectively. Find the
mode of the salary. / U SUGHATY 10 TN B HTH A AT 8 3R 9P dad- 19 &: 35000 TUT,

25000F9T, 15000 FUTY, 12000 TUT, 12000 FUTY, 12000 TIT, 12000 FUTY, 12000 T=IT, 10000 FUT,
10000 =YY, 91 BT HIS (T§AD) JTd DT

1. Rs. 35000 / 35000 ¥=UU
2. Rs. 25000 / 25000%=UU
3. Rs. 10000 / 10000 =YY

4. Rs. 12000 / 12000 =UU

Correct Answer :-

« Rs. 12000/ 12000 ©UT

17) s Hawd F & T IR & Fo1Q U Teg T gATd I |
1. forarer

2. ot

3. form

4. foraitfas

Correct Answer :-

. fordf=a

18) Choose the appropriate prepositions for the given sentence:

all the subjects the school curriculum, perhaps the most difficult subject is the
study languages.

1. For, against, of

2. After, of, of
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3. Of, in, of

4. Under, in, of

Correct Answer :-

o Of,in, of

19) Choose the appropriate usage to fill in the blank:

He is

1. not

2. not at all

3. never

4. scarcely

Correct Answer :-

e Never

in time for meals.

20) Which one the following planets has the shortest period of rotation? / A fea e

o1 ga9 $H guUiA 3afd g2
1. Mercury / 99

2. Earth /qzaﬁ
3. Jupiter/qsmﬁ

4, Neptune / 9]

Correct Answer :-

. Jupiter/m

21) Who is the Director of the Enforcement Directorate?/uﬂ?&lﬁﬁ?ﬂm%ﬁﬁ?@ﬁ?%‘?

1. A.K. Singh Jyoti /T Rig i
2. Karnal Singh/ W’Iﬁ'ﬁl—é

3. B.S. Bassi/ dlqy st

4. Nirbhay Sharma / g zmf

Correct Answer :-

« Karnal Singh/ B3 g
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22) If MOTHER is coded LNSGDQ, then how is GRANDSON coded? / 'Qﬁ{ MOTHER &Y LNSGDQ I

PHIfEd forar SraT @, a9 GrANDsON 1 $A wifed forar s

1. FQZMCRNP
2. FQZMCTNP
3. FQRBMCRNM

4. FQZMCRNM

Correct Answer :-

e FQZMCRNM

23) From which Veda has the famous Gayathri Mantra been taken? / s M A fea ag 9
feram e 32

1. Rig Veda / 574G
2. Yajur Veda/qﬁj,'a‘?{a—cf
3. Sama Veda / 91HdG

4. Atharva Veda / 3fYddcg

Correct Answer :-

+ Rig Veda/Fdg

24) Choose the correct form of tense for the given sentence:

I___ avery interesting book at the moment.
1. have read

2. reading

3. have been reading

4, am reading

Correct Answer :-

« am reading

1.8
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2.6
3.4

4. 10

Correct Answer :-

Topic:- Assistant Veterinary Medical Field Officer

1) The funding agency for Cattle Insurance Scheme is L UR] i IR EIED m
A el g

1. DAHD&F, Government of India / S1TETS! ¥d TH, HRd IRHR

2. State Department of Animal Husbandry / X1 IR b ULUTeT faumT
3. Milk Cooperative Societies / gY HehR! FiHfaai
4. Nationalised Banks / QT@’QW CED

Correct Answer :-

« DAHD&F, Government of India / 3‘|QQ5|3| Ud TP, URd TRPR

2) When bandaging limbs or tail, as per the bandaging rules: / ST UTq 9T 12'35 W Tl?f qiYd

& A vt SiA & e & SrER:

1. Never overlap bandage to prevent wastage of bandage. / q?f & YT ol A o forg pHadt +ff
Ugl Bl SifcAd gl He |

2. Work from distal end upwards to prevent blood from pocketing at the end / 3id ERESCARSE]
B A h & o1l R RV SW BT 3R HTH B< |

3. Use safety pins to secure the ends to keep the bandage in place. / tITg-p[ B S8 R 3G & fam
RRT D1 GRI&rd T & ferd GRef Ul &1 U 1|

4. Do not include the foot if bandaging the lower limb so as to bear weight. / gfe 31Y: Ulq R t@
FX @ © I Uid o] A 9 B, o aor e+ a1 o dobs |

Correct Answer :-

« Work from distal end upwards to prevent blood from pocketing at the end / 3{d T Xad B ST HT

B U AP & [0 R RR Y FWR BT 3R B B

3) What is the drug used in the treatment of the tapeworm infestation? / SyarH a9 &

SUAR § SUURT 1 ST areil SN 71 82
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1. Pyrantel pamoate / WRed tI'I'J:ﬁ'Q?
2. Piperazine / IPLEEIE]

3. Praziquantel / Qﬁﬂ@\?ﬂ%ﬂ'

4. Ivermectin / 3TgaHIGE

Correct Answer :-

« Praziquantel / Q]Trﬂ@m

4) CANCELLED

Gaddi is a breed of ./ Tlﬂ, P T T % I
1. Goat / dhR]

2. Sheep / ﬁ—s’

3. Buffalo / "9

4. Cattle / U]

Correct Answer :-

« Sheep / ﬂ—s’

5) What is the term used to designate feeds that are high in crude fiber (>18%)? / Gl'qm

BIST (> 18%) A TG HISH B ATRIG B & o8 S A g BT TN fHam Srar 32
1. Nutrients / OTS

2. Additives / TRTST

3. Concentrates / IIg

4. Roughages / AT IR T V[T

Correct Answer :-

« Roughages / AT IR a1 R T

6) What is the antiseptic agent commonly used in wound dressing? / HTHI=Id: 9Td 3&111 s |

SEATE B4 arer gferidt (TER®) o i g
1. Formalin / TTHTCI

2. Povidine iodine solution / GId1f& TS faera
3. Bleaching powder / faXs 9ol
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4. Acetic acid solution / TRIfc® 31 faaa

Correct Answer :-

« Povidine iodine solution / QIdIfe RS faera=

7) The mange in animals is caused by

GG

1. Fleas /ﬁﬂ
2. Ticks / foat

3. Lice /G:Ii
4. Mites / 9 (HIRQH)

Correct Answer :-

« Mites / Y (HIRQY)

8) The common duck breed is

1. Rhode Island Red / IS 3EAS I8
2. Minorca / ATSARE]

3. Khakhi Campbell / T} HUSA

4. Bantams / St

Correct Answer :-

« Khakhi Campbell / @1 HUad

GET IT ON
Google Play

9) What is the recommended level of calcium in case of a laying hen’s diet? / Th 3[US aﬁ

arent ff & MR & urTe A Hferkraw &) sr=ifra v Far gt 82

1.0.5 %

2.1.0%

3.4.0%

4. 8.0 %

Correct Answer :-

e 40%
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10) Growth hormone, which causes hyperglycemia is a result of J Q'@ HEIGH

R RO grEwRTAaT gt 8, &1 URUTH 31
1. Decreased peripheral utilization of glucose / W & HH U TR

2. Decreased hepatic production via gluconeogenesis / Wﬁaﬁﬁﬁm & A Y W Al
hH 3dlc

3. Increased glycolysis in muscle / aulREl | ?{@H W’%ﬁm

4. Decreased lipolysis / P H dH[-3HUYUCH

Correct Answer :-

« Decreased peripheral utilization of glucose / W & HH gReT IggnT

11) CANCELLED

Toxic substance present in leguminous trees is ./ AGR q& | 'FﬁTrE{ faurea
LK !

1. Mimosine / FHARH
2. Trypsin / @:@F{

3. Cyanogens / BILEISES
4. Thymine / e

Correct Answer :-

« Mimosine / FAIRE

12) What is the brooding temperature in the first week? / Ugd Iwe o CUGIELIG CUEL

CHUYER) 1 BT 82
1. 95°F

2. 60°F

3. 105°F

4. 70°F

Correct Answer :-

e 95°F

13) Indian Grassland and Fodder Research Institute is located at ./ HRAH
TRITE €A ART STHYUTT IR Rua % |
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1. Delhi / faeqait
2. Jhansi / E:IT‘v_ﬁ

3. Karnal / Tc]
4, Bangalore / STAR

Correct Answer :-

o Jhansi/ Eﬂl:ﬂ

14) Pregnancy is maintained by ./ TYTaRIT & GRT AT P
ik

1. Corpus luteum/ Uid - fUUS

2. Follicle/ BTl
3. Ovaries / ST

4. Testis/ UUT

Correct Answer :-

« Corpus luteum/ 4id - fUTg

15) What is the major function of Milk Producers’ Co-operative society? / g4 TGP

Tgh R Afifa 1 uHa &1 a1 82

1. Marketing of milk / g¥ b fququr

2. Branding and advertising for milk / ¢¥ & fog wiféT 3R fagm=

3. Facilitating milk production and collection of milk / g7 TG Gl ﬁﬁ?ﬂ 3R <Y BT ISl
4. Value addition of milk / G4 & I H gfg

Correct Answer :-

« Facilitating milk production and collection of milk / g™ Sl Gl ﬁﬁ?ﬂ 3R QY DT UGl

16) Choose the system used to measure the total energy value of the feed or forages. / Yo

T IR (WIS TR Pt $d SHoll Yo DI AT & 17T TG YUTTE! T T4 H |
1. Digestible crude protein / RIS Ui

2. Digestible ether extract / TR 3R Tcd

3. Total digestible nutrients / Pl PIEENIGRSINCS
4. Biological value / EICED HY
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Correct Answer :-

« Total digestible nutrients / Pl PIEENIGRFINCS

GET IT ON
Google Play

17) What is crossing of F1 with either of the parents called? / Arar-fuar § 9 fedt U &

Y F1 PT HHRUT FT HEATdT 572
1. Test crossing / TRI&T of T

2. Line crossing / TS HhRU[

3. Strain crossing / dI1d HhUT

4. Back crossing / UR[d HhUT

Correct Answer :-

« Back crossing / U= HhUT

18) For amputation of the horn, which of the following nerve is blocked? / N7 & 3T

e ¥ RM, A 4 @ o9 @ dleT savg ad 22

1. Cornual / ”fT

2. Lingual / T\ll‘IET

3. Optic / PRD
4. Nasal / GEHM

Correct Answer :-

« Cornual / 47T

19) The place where pigs are maintained is known as

SR B S 84 ol
1. Sty / R[HATET (YCT3)

2. Stable / 3¥dd

3. Kennel / pdI-UX
4. Aviary / U&[TRITET
Correct Answer :-

- Sty / BRI (JCT3)

./ T STE WIgT YIR\ Bt @I B
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If the heritability of the traits is very high, then the method of selection adopted is J

gfe @& a1 W & dRfdd dTga 3= 8, A A S T s fafrg .
1. Progeny testing / dfd URI&T0T

2. Family selection / qTRaTR® ==

3. Individual selection / TG I

4, Pedigree selection / CRICKIELE]

Correct Answer :-

e Individual selection / W’Iﬁw

21) Cattle Insurance Scheme is applicable to L UR] CieI ﬂ-']Tﬂ:IT, U

Qi)

1. Crossbred cattle / IFsI- TS Ul

2. Buffalo / 99

3. Milch animal / gYTRs S[d}

4, All types of cattle and buffaloes / dd Yh R & ug] 3R Ny

Correct Answer :-

« All types of cattle and buffaloes / {&l UPX & Ul IR O

22) Ultra-sound imaging uses waves between 1 to ./ Ry i, 1 I

& ST B TN BT IUWT HIAT 8
1. 10 Hz
2. 100 MHz
3.10 MHz

4. 100 Hz

Correct Answer :-
« 10 MHz

23) Rabies is caused by virus. / &S CIERS] & PRUT ST B

1. Corona virus / BRI CIERSS

2. Lyssa virus / AIg4T dIgXd
3. Paramyxo virus / PRyjtacasl CIERSS
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4. Picorna virus / OISl AI5<y

Correct Answer :-

o Lyssa virus / ISl dIgXY

24) Which of the following condition can be diagnosed by radiographic diagnostic imaging? /

AATEY At SARE & gRT e & F H14 W RS 31 e far s awar 22
1. Cyst / el

2. Hematoma / S1ERTEG

3. Abscess / fagfd

4. Fracture / E'g[ ccHl (W\?)
Correct Answer :-

« Fracture / 88! g1 (hpeR)

25) One of complications of burns and scalds is AL MR adqle &1 Afedarsi &
q TP g

1. Cyst formation / H_Cpf fmTor
2. Fistula formation and bleeding /TSI AT 3R X FG0T (BRI BIHRH SR Felem)
3. Hematoma formation / 3@?@_3 Ao

4. Shock / UdTd

Correct Answer :-

e Shock / UdTd

26) The latest central government scheme for conservation of indigenous cattle is

/ ST U & TRV P fore Td-aw g PR die1 8 |
1. National Dairy Plan / TI'gTq ST TIorT

2. Livestock Insurance / UR[YU Cita]]

3. FMD-CP / T5hUHS |-G

4. Rashtriya Gokul Mission / Trgﬁ Tﬁﬁ ERE

Correct Answer :-

« Rashtriya Gokul Mission / Tl'@'q W NG|
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27) The larva of flies is called as . AfRagl &1 araf ,‘l-ﬁ
HET AT 3|

1. Nits / e

2. Maggots / fl"'nﬁ
3. Pupa/ YguI

4. Imago / E'ﬁ"'ﬁ

Correct Answer :-

« Maggots / ﬁ"'ﬁﬁ

28) An F1 vaccine is used to control which of the following diseases? / F1 IRH Fufafad

T A | B A I b1 Fafa s & e SudhT ot 9t 82
1. Marek’s Disease / TR INT

2. IBD / 3fTgdTe!

3. Ranikhet Disease / T1RId I

4. CRD / HI3RS!

Correct Answer :-

« Ranikhet Disease / JRad 7T

29) In which enzymatic step is glycolysis regulated? / o Qﬂﬁ'l_{lﬂ TRUT H mﬁaﬁmﬁw
@I frifa foran simar g2

1. Hexokinase only /W%ﬁm
2. Phosphofructokinase only / R WWW

3. Pyruvate kinase only / s ws@ac Obl‘:-é:N-I

4. All of the above / ITGad Tt

Correct Answer :-

« All of the above / B'CI'{:IH?‘[ gt

30) The study of collecting, compounding and dispensing of drugs is called ./ 3nger
& 94, frgor ofR faavor &1 sreaaq HEAI G|

1. Pharmacometrics / Wﬁ@ﬁﬂ
2. Pharmacodynamics / PGS TR
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3. Pharmacotherapeutics / Wﬂmaﬂﬁm
4, Pharmacy / BT

Correct Answer :-

« Pharmacy / Bt

31) During poisoning condition, which of the following agent is commonly used to induce

vomition? fauTadar 1 fRUfa & SRM, g A ¥ $I9 T Tolie &1 39T, GTHIG: 3o A & e fovar sirar
2

1. Magnesium sulphate / B¥ifRrm b
2. Sodium bicarbonate /@%ﬂ'ﬂra’@lﬁﬁ?
3. Sodium chloride / Gifsaq RS

4. Hydrogen peroxide / g5 o WRIdAES

Correct Answer :-

e Sodium chloride / TfgTH FTARES

32) What is the practice of giving supplemental feed to lambs called?/ ‘ﬂg & g Bl W
YT ¢ BT ST FT HEaATdl 82

1. Creep feeding / fagdur 1Rop @q q’ﬂ%"'l)
2. Total mixed ration / Dol THI3d R
3. Restricted feeding / PIEIRGRISE

4, Challenge feeding / ﬂ:ﬁ_vﬁ YU

Correct Answer :-

« Creep feeding/ﬁw YT @tr hITS)

33) What instrument is used to measure the pressure in the atmosphere? / dTdTd Ul H qld

B AT & T S A SUSRT BT IUERT {541 Sram 32
1. Anemometer / Ga-THTYT
2. Sling psychrometer / T ATSehIHIER

3. Barometer / ATgGISHTG!
4. Hygrometer/m(sléﬁlmaﬂ

Correct Answer :-
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 Barometer / aTngﬂrtﬁ

34) Commercial broilers are mainly used for J aTforfsus® EVEFR' HEId: &
fore SuaiT fd 9 €1

1. Egg production / 37T 3G

2. Only for meat production / dHad HY I

3. Both for egg and meat production / 3iS 3R A 3G gl

4, Only for chick production / Had il Sla-

Correct Answer :-

« Only for meat production / Had A I

35) The term ‘Genome’ is used for set. / ST Qeq, Jde & ford yar
fparSrar 21

1. Haploid / 3{Tf0Td
2. Diploid / Tg3Iford
3. Polyploid / S0
4. Triploid / ﬁ'{[ﬁlﬁ

Correct Answer :-

» Diploid/ |§!!Iﬁla

36) Which of the following vaccines is used as calf hood vaccine? /A AP S B

PP §S AR & U A sTHTE fHar \irar 82

1. Foot-and-mouth disease / TGTRI-IAT

o O

2. Hemorrhagic septicemia (H.S.) / QCPCI‘Hldﬁl Jldsildrapddl (TH.TY.)

3. Brucellosis / @Fﬁﬁlﬂ
4. Rabies / &Sl

Correct Answer :-

« Brucellosis / @?ﬁﬁlﬂ

37) Which is the longest period in estrous cycle? / Hg dh (THISH HTID 1) A gad dat
Ay B A 72
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1. Estrus / Hgdh

2. Metestrus / Haald
3. Diestrus / HahTd

4. Proestrus / ﬂ’ﬂa‘ (‘v?ﬂﬂ‘chﬁ)

Correct Answer :-

o Diestrus / Hadh[d

38) Common chemicals used for fumigation are L YHA & fore SuaT i
I 9o ATH 1A © |

1. HCHO & KMnO, / HCHO 3fR KMnO,
2. Only KMnO, / %dd KMnO,

3. Only HCHO / %dd HCHO

4. Povidone iodine / tﬁﬁ—tﬁq \’rﬂ'cn@ﬁ:f

Correct Answer :-

- HCHO & KMnO, / HCHO 3R KMnO,

39) The antibacterial effect of the fluoroquinolones is due to inhibition of which of the

following? / FARI@-TIeN P1 sitaruRIeh uuTa e ¥ & frasd e & R giarg?
1. Protein synthesis / Ui Iy

2. Cell wall synthesis / DIRIBT FRT HRATT

3. Nucleic acid synthesis / W 3] RAYOT

4. Folic acid synthesis / il 3T HRATT

Correct Answer :-

« Nucleic acid synthesis / =[aedh 3Te HLATUT

40) Colour sexing genes in poultry are ./ paPpcUleId # = feifdi B_cq_clﬁf ik
(@R QT i) 81 B

1. Sex-linked cross / m b
2. Sex-limited cross/ TeiTT TIfHd THx
3. Sex-influenced cross/ TR T
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4, None of the above / \Nﬁidd AY dls Tal

Correct Answer :-

« Sex-linked cross / eI b

41) The heartworm infection in dogs is transmitted by

TpHU, P grIIRCGEErgl

1. Mosquitoes / H=®5X
2. Ticks / foperl

3. Lice /Gjli

4. Fleas / ﬁﬂ

Correct Answer :-

« Mosquitoes / H®SX

42) The urinary bladder is absent in

TERE W IuiREEarg |
1. Dog / &I
2. Fowl / B13d

3. Horse / En_ST
4.0x /89

Correct Answer :-

o Fowl/WHWI3d

43) Testosterone is produced by

P gRT fHaT AT 81

GET IT ON
Google Play

1. Leydig cells in response to stimulation of LH / LH & d'E':\ILI"I & L«Ii?ldd\di T AfST PIRTw13M
2. Steroli cells in response to stimulation of FSH / FSH & JeuT & qﬁl@ﬂ?ﬂ T IR

CAIRER]

3. Leydig cells in response to stimulation of FSH / FSH & d'E':\ILH & H‘I?Idd\cli o aofem

CAIREIR]

4, Steroli cells in response to stimulation of LH / LH & \'SE':\ILI"I & UfaSaR # Wit HIRIBIS

Correct Answer :-
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 Leydig cells in response to stimulation of LH / LH CRCEALEED Hi?ldd\d( T df ST HIfRIb13

44) What is the most important economic trait of a layer bird? / TR a@' CaR:CE

Hecayut ST weor w32
1. The number of eggs laid / QU T 30| DI I
2. The size of the egg / 3T FHT HR

3. The weight of the egg / 3(US HT gol
4. All of the above / G'qijfﬁ T

Correct Answer :-

« All of the above / STYard Tt

45) What are the enzymes elevated in animals suffering with Downer Cow Syndrome

(DCS)? / TR F1S RigH Eiiey) T difsd sa’l # 39d togq | 82
1. AST & CPK / TUHET 3fR Hidies

2. ALT & GGT / TUECT 3fR Siteite!

3. OCT & ALP / 3fi1eT 3R wuard!

4. GDH & SDH / Sfude! 3R Hiuzet

Correct Answer :-

. AST & CPK / UTH<T 3R s

46) The premium of the Cattle Insurance is subsidized to the tune of WAL CiEIka

Hiftgw, 9 9gRe )R 9w gt g |
1. 40%
2. 50%
3.55%
4. 60%

Correct Answer :-

e 50%

47) A deficiency of insulin results in ./

$gfm &Y it 1 aRomm g gl
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1. Rapid uptake of sugar / Q[HRT BT dol IGURT]

2. Low blood glucose level / 5 Yo ‘(‘]\d;lvl TR
3. Decrease urine output / HA T hH Idlq
4. Presence of glucose in urine / HA | W DI IufRUfa

Correct Answer :-

« Presence of glucose in urine / {A | ]F‘Elﬁﬂ &I IufRfa

48) What is the basic genetic effect of inbreeding? / 3: WS- BT Jd T RIH THTT FT

g1 B2
1. Increased heterozygosity / Sal E’s‘ [CLLERLEER]I
2. Decreased homozygosity / 2| E_sc JHYHSIAT

3. Increased homozygosity / a_(f[ E_st JHGHSICT
4. No effect at all on genetics / &naa'w I°R ﬁ?g?'_c‘f TYTq =781

Correct Answer :-

« Increased homozygosity / aa"r E_st JHYHSIAT

49) Shearing is mostly practiced in WAL | Wl'g DT AT PR W
farSmar 3|

1. Sheep / 'ﬂg

2. Goat / SN

3. Horses / Eh%

4. Pig / g3iX
Correct Answer :-

« Sheep/ ﬂ_‘é

50) Two important byproducts generated in oxidative pathway of HMP shunt
are ./ THTHYT Te & STRiTHeull ARl # Ia0d g & Heayut Sudre
g |

1. NADH and pentose sugars / U+ L{Snl dd G‘ﬁT U<y QId?NI
2. NADPH and pentose sugars / Qﬂqéldlqa 3R UG B
3. Pentose sugars and 4 membered sugars / U1 T 3R 4 AS RSRIES
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4, Pentose sugars and sedoheptulose / Ui Hx] 3R ?ﬂ?ﬁ%’@?ﬁﬂ

Correct Answer :-

« NADPH and pentose sugars / Qngldma 3R U T

51) The preferred energy rich feed ingredient for horse is

g Wi g9es s |
1. Oats/Grst
2. Wheat/ﬁg

3. Rice / dldcl
4. Sorghum / TR

Correct Answer :-

. Oats/\_flg

52) In terrestrial mammals, in which organ will the synthesis of urea takes place? / REg

TR ®, foa i o gfear &1 Sxawor gidr 82
1. Blood / B3R

2. Liver / gpd

3. Kidney / 9dh

4. Heart / a4

Correct Answer :-

« Liver/ddd

53) The chemical name of guanine is ./ T T IS 9 % |

1. 2,4-Dioxy-5-methylpyrimidine / 2,4- SIS 3HIN-5- AR ESH
2. 2, 4-Dioxypyrimidine / 2, 4-S3HTRIARTSH

3. 2-Amino-6-oxypurine / Z—Q'Jﬂ:ﬁ—&@l}l’a;ﬁ@_"f

4, 2-Oxy-4-aminopyrimidine /2-&@-4-@7#@%@:[

Correct Answer :-

« 2-Amino-6-oxypurine / }Q?ﬂ?ﬁ@@ﬁﬂ%ﬂ%
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54) Excess of calcium and deficiency of vitamin A may predispose the animal for ./

mﬁaﬁaﬁ?mAaﬁwﬂﬂaﬁﬁ F U A A uga HR
|

1. Enteritis / S{T=NY
2. Gastritis / ‘:REAIQIEFI

3. Uroliths / Q?”%M
4. Prostitis / mRefeg

Correct Answer :-

o Uroliths / QQ”%‘I?{

55) CANCELLED

National Dairy Development Board (NDDB) was established in the year . ?T@'q ST

e as @SS wrad o wyrfRe fooar mar am
1. 1935
2. 1945
3.1955
4. 1965
5. 1945

6. 1965

Correct Answer :-
e« 1945

« 1965

56) An example of inhalant anesthesia is ./ 349 Rga &1 U Jqle}ul
gl

1. Ketamine / PICTHTSH
2. Propofol / Uaeid
3. Thiopentone / e

4. Isoflurane / &ﬂ%@u@_—[
Correct Answer :-

« Isoflurane / 3'”3@'@_"[
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57) Plague in humans is transmitted by the bite of a flea. / ﬂﬂ'&ﬁ A @ Udh

ey & e A IR S 2l

1. Rat/ gl
2. Cat / fare(all

3. Dog / @ ddIl
4. Bird / Teft

Correct Answer :-

« Rat /gl

58) A nucleotide consists of ./ Tbh Waﬁm, CEE RG] %I
1. A nitrogenous base like choline / BT o :||$?.j|\_)‘|:i| &R

2. Purine or pyrimidine base + sugar + phosphorous / ulh_"f 7 U e + 2 +
BIRBRY

3. Purine or pyrimidine base + sugar / Ulﬁ_"f g1 AR eR® + T
4, Purine or pyrimidine base + phosphorous / III,_ﬁ_ri 7 FORASH &R® + BIRBRY

Correct Answer :-

« Purine or pyrimidine base + sugar + phosphorous / Ulﬁ_rf 7 ARSI &R + T +
BRBRY

59) Which one of the following is a wet method of processing of grains? / fadds= T,

S & UGV B TP et fafer g2
1. Rolling / 9@ (Il
2. Roasting / {1 (ﬁﬂﬁ'ﬂ)

3. Micronization / FTSh TSI

4. Soaking / T¥RTIAT

Correct Answer :-

« Soaking / fHTIT

60) The human malaria is caused by the bite of ./ |HIFd uﬁﬂm, &

FIe & PRI FIAT G|
1. Female anopheles mosquito / HIGI Tl AR
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2. Culex species / Wﬁfﬁf
3. Aedes species / TSiSl Sifd
4, Mansonia species / T St

Correct Answer :-

« Female anopheles mosquito / HIGl TS AR

61) A commonly used protein which is a rich diet in poultry is ./ b HHd:
ST AT & arar widiE, St dieqdt ar geifareq § 99 3eR @ |

1. Maize / Hah]

2. Soyabean / T

3. Jowar / SdIR

4. Sunflower extraction / JII! FSHY0T

Correct Answer :-

« Soyabean / LIRS

62) Mode of action of tetracyclines is the ./ ceTaTg TR @ fopar faftr gl
1. Inhibition of cell wall synthesis / DITRIBT TNRT HRATTT BT SRR
2. Disruption of microbial cell membrane / ﬁ&ﬂﬁﬁﬁ DIfRTepT fareet! &1 faee

3. Interference with metabolic processes / JUTUAd UehH H gxaed
4, Inhibition of protein synthesis / Ui 0T BT SRR Y

Correct Answer :-

« Inhibition of protein synthesis / PIEEEES LG R GRERL]

63) Cruciate ligaments are presentin the  joint./

Wi wigde pRige ferde), i & divg gid €
1. Elbow / TGl

2. Hip / 10T

3. Stifle / R

4. Shoulder / Th¥Y

Correct Answer :-
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. Stifle/ Rewd

64) The larval stage of dog tape worm, Echinococus granulosus, is /W%Cﬁfl

@1 Gl WUT, FPIRSIHE Igaad, gl
1. Cysticercus cellulosae / R THT Tt

2. Cysticercus bovis / FIETadHg Sifay

3. Hydatid cyst / Esaics Ue

4. Coenurus cerebralis / HISY TSI

Correct Answer :-

« Hydatid cyst / BTSSfeE G

65) What is the major side effect of using aminoglycoside antibiotic? / Eﬁﬁ"ﬁﬁﬁﬁ'\‘lﬁg

TaTIfe® BT IUUNT HIA FT YT gHIUTEG T 32
1. Hypersensitivity reaction / Sffaide-T=itaarn ufdfear
2. Bone marrow depression / 3RY AT a9

3. Embryotoxicity / YUIRfcd
4. Deafness and renal damage / dgX[U- 3R ﬂé &t &fd

Correct Answer :-

« Deafness and renal damage / d[gTU 3R ﬂé DI &fd

66) Total blindness in animals is called ./ T3 & GRT SieTa dgardl

g

1. Nictolopia / Taeh
2. Glaucoma / TR IHT

3. Cataract / qﬁﬁmﬁg

4. Amaurosis / AIBT-3{eIdT

Correct Answer :-

« Amaurosis / AA®T-3{edT

67) The grinding part of the digestive system is known as ./ UTI® &9 & gyur
YT &Y FEI AT
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1. Proventriculus / ﬂ'lﬂaaaz
2. Gizzard/%ilil\_ﬂlé)

3. Crop / Bl
4. Beak/?ﬁ%[

Correct Answer :-

. Gizzard/%(lil\_rllé)

68) The main clinical symptom of Coccidiosis is ./ DIRITSTdr BT BT EHIECH
LUK !

1. No diarrhea / &% = BIFT
2. Bloody diarrhea / 1 &%
3. Greenish diarrhea / E%ERH

4. Whitish diarrhea / b &

Correct Answer :-

« Bloody diarrhea / il G

69) The portion of the protein in feed that is not digested in the rumen is WALk

AT FH1 98 e s fs AT A urRa gt grar__ |
1. Bypass protein / KL

2. Non-protein nitrogen / R-UEH 7‘"3_@37'[

3. Rumen degradable protein / 0 IYc g !:hT[q PIEE]

4. Soluble protein / ICRERIGE]

Correct Answer :-

« Bypass protein / JUHF U

70) The deficiency of iron in piglets causes R ST T AT B FH P
SRU___ g SErgI

1. Muscular dystrophy / g W

2. Rickets / WE

3. Piglet anemia / ‘aET Q:ﬂﬁl'q[ (fﬁ??rc’ Q:ﬁﬁl'ql')
4. Hypoglycemia / HECILSIESIERI]
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Correct Answer :-

 Piglet anemia / HeT Q:ﬁ'&ltﬂ (&I”a? Q:ﬁﬁl'CIT)

71) CANCELLED

The antifungal agent used in the dandruff treatment is /& STER o Ugad
LOL AT 2l

1. Clotrimazole / aaﬁ?ﬁ?rﬁa

2. Ketoconazole / BIeIdIad

3. Selenium sulphide / JofgH Geh1Es

4. Sulphur compound / Heth¥ qife

Correct Answer :-

« Selenium sulphide / It bz S

72) The digestive system is absent in WA 15 KGE | H Glﬂ'@l?r a_dT %I
1. Trematodes / aﬁaﬁ

2. Nematodes / THICIS

3. Cestodes / TCIS

4, Arthropods / 3T yfars

Correct Answer :-

o Cestodes / @@3

73) What is the relationship between response to selection and number of traits? / TI-T )

SfRaT 3R d&vn @) T & ST war ey 32
1. Directly proportional / 3{Jeh HIJUId
2. Inversely proportional / wa?ﬁ

3. Twice as that of response / HHWT Gal Eﬁ'ﬂ:ﬂ
4. All the above / 3Tdad i

Correct Answer :-

« Inversely proportional / W
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74) Scald is an injury caused by ./ %dqTg, & BRI T dTelt Th die gl
1. Fire /319
2. Contact with hot object / ™ a¥d & 1Y W

3. Electricity / ﬁ_g?:lﬁ
4. Hot oil / TH dd

Correct Answer :-

« Hot oil / TTH dd

75) An example for non-protein nitrogen source is . AR ?@TXF{ Cickg
ferg v Sereor gl

1. Urea / gRAT

2. Copper sulfate / PR he

3. Superphosphate / W
4. Di-calcium phosphate / ST5-P iR Bidhe

Correct Answer :-

« Urea /gRAT
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